
//example 1.14.b// 

clc 

//clears the screen// 

clear 

//clears all existing variables// 

a=110010100011.01110101 

//for integral part// 

//put decimal equivalents of 1100(12), 1010(10) 

and 0011(3)// 

//subtract 3 for excess 3 so, 9(12-3), 7(10-3) 

and 0(3-3)// 

i=970 

//for fractional part// 

//put decimal equivalents of 0111(7) and 

0101(5)// 

//subtract 3 for excess 3 so, 4(7-3), 2(5-3)// 

f=42 

disp('970.42','decimal equivalent of excess 3 

number 110010100011.01110101 =') 

 


